August 23, 2017

Warm Up:

Solve.
4x-2x-5=4+6x+3
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Warm Up #2:
2(k=5)+3k=k+6
2LE=-10 =S 1= k-
S o= ki
Y —o=(
Y K=y

K:\f

When fractions or decimals appear as
coefficients in equations, our work can be
made easier if we multiply each side of the

equation by the least common denominator
(LCD) of all fractions.
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EX #1: 501}\/\
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EX #3: For the 2008 baseball season, the Major
League Baseball leaders in runs batter in
(RBIs) were Ryan Howard of the Philadelphia
Phillies and Josh Hamilton of the Texas
Rangers. These two players had a total of 276

RBIs, andHoward had 16 more than
Hamilton. . How many RBIs did each player
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187.5 is 125% of some number, what is that
number?

1252 - w = 17,5
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EX #5: Mixture Problems!

A chemist must mix 8L of a 40% acid solution
with some 70% solution to get a 50% solution.
How much of the 70% solution should be used?

555

3.2 *
X =
3.0 vy =
L X
X

August 23, 2017




